ALGEBRA II Exam G Review ]z 12\/

Use the properties of special right triangles (30°-60°-90° and 45°-45°-90°) to solve problems

1) If b =5, then the exact value of cis...
a5  b)sv2 o530 (d)10

2) If & :2\/5 , then the exact value of & is...

@ BY 6 o) 43 d) 12
3) Ifa=7, then the value of b to the nearest tenth is...

@) 40 B35 49 d) S /
4) Ifb =7, then the value of ¢ to the nearest tenth is...
Q) 85 b)) 99 o121 [d) 140\ n
a C

5) Ifbh=7, then the value of a to the nearest tenth is...

a) 8.5 b) 9.9 d) 14.0

6) If ¢ =12, then the value of b to the nearest tenth is... b

D60) b 42 940  d) 35

7) If b =7, then the value of ¢ to the nearest tenth is...

@ by 10.5 ey T2l dy 7

8) If b =26 , then the value of @ to the nearest tenth is... 45

) 105 b 98 o 69 @ ¢

9) If ¢ =12, then the exact value of & is...

) 6 B9 o 43 []
b

10) Ifc= 5\/6 , then the exact value of b is...

a) 10 B) 5 (o) 53 ) o) 52
N—
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11) What is the exact side length of a square that has a | 12) What is the exact perimeter of an equilateral

diagonal length of 12 inches?

@ Sinys° - ."f;,

triangle that has a height of 18 cm?

235 =P

‘S" k% 1$e # o
4& St lis’= ég

13) If segment AB has a length of 20, what is the exact radius of the circle

with center O? B~"20 A

_ ~_.qu5.9 P
) v - I> B A
g‘ N Lfg : :’ @ ‘iv
2o O
\—___‘_,_,//,
14. A right triangle has a 60 degree angle, and the leg adjacent to that angle has a length of 7 in. Find the

15.

16.

17.

18.

19.
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length of the other leg to the nearest inch. }j\: Lo + anlra’ = oTP};Sra oThée= 124

7"
A right friangle has a 45 degree angle, and the hypotenuse has a length of 8 ft. Find the length of a leg to

the nearest 10™ of a foot. \ /
jm ) 5}2145: L_fﬁ }-lﬂcgaf?!fegq
ys g

The hypotenuse of a right triangle with a 30 degree angle has a length of 9 cm. What is the length of the

leg adjacent to the 3 dﬁgree angle to the nea(récfsf 100™ of a centimeter?
i
%07 (s 307> 5 Q= 7779 tm
O
The diagonal of a square has a length of 18 cm. Find the area of the square. 5
w _ ¢ 2 _ .
s | 450 Sinls’- z]‘c‘g‘ 5‘:4’[9’2/ S' AV JLeem

] (X

The height ’?f an equilateral triangle is 6 in. Find the perimeter of the triangle to the nearest inch.
{ Lt S 5 o- Yoo 1 ‘ e
0 L X ST ’-ﬁ’ §hz  poaglelzx
\oP

Albert is standing at point A. He takes a sighting to the top of a cliff, (point C). The angle of elevation is
30 degrees. Becky is standing at point B and takes a sighting to the top of the same cliff, (point C). The
angle of elevation is 45 degrees. If the cliff is 100 feet high, find the distance between Albert and Becky.

: V. e=KB < jeoly Ra- fit}nﬁ)t,

Lap3o 12
. b
\\ 3P %@_ = ]b’qﬂ)’ﬁ

-‘F‘ cliff - 100 ft
w
™
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Using sine, cosine and tangent ratios to solve problems

20. A 12-foot ladder leans against a wall to form a 63° angle with the ground. How many feet above the ground is
the point on the wall at which the ladder is resting? Include a sketch of the situation,

21 - T ) -
h R Sin 3 :i 3 ?-’;il-ﬁ.'lﬁeer»

b3 (
21. A 13-foot ladder is leaning against a brick wall. The top of the ladder touches the wall 12 feet (ft) above the
ground. (a) What is the angle formed by the ground and the base of the ladder? (b) How far is the base of the
ladder from the wall? Include a sketch of the situation,_— }))

(2 0b - 13

o N h 4 s ( ) t° @;]

22. Billy is standing on the top of a backyard swing set slide. As he looks back, he notices that the angle of
depr-essmn for the 8 foo‘r ladder foot is 57 degrees How high off the ground is Bllly’) Make a sketch of the

' 8

23. Sally has measured the shadow cast by the blue spruce tree in her family's front yard to be about 64.25 feet.
She estimates that the angle of elevation when she is standing at the end of the shadow to the top of the blue
spruce is 50 degrees. Determine (a) the height of the tree and (b) the distance Sally is from the top of the
tree. Make a sketch of the situation.

‘ i Q) {:ﬁw(ﬁ):_‘%{ & COQ[SU) &V 25
| (1=t

b4 .25 Feer
24, Triangle ABC is shown below. c

==
‘.>

B
A 28

Which equation should be used to find the length of segment AC if angle C is a right angle?

b. sin24°:§
c. cos24"=£ d. cos24°:§
28 AC
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; 5
2b. In the triangle below, if sin B = 1_” , find the tan 4.

A g g Z
Y te= 13
b c 1212
4.
L {Aﬂ)’q“h
C a B
- 2l

26. Inthe triangle above, if BC = 21 and sin A = 0.7, what is the length of AB? T‘; s

A 147 B. 217 D. 32

§ oA LK
O
¥ et o,
a8 E=
< 42
300f+t Approximately how tall is the lighthouse if the angle of elevation
shown is 42 degrees?
28,
8.7 18.2
cH == B
Which equation gives the correct value for BC?
A.sin43°:£ B. cos43°=£ C. tan 47’°:ﬂ
10.2 BC BC
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Use the unit circle to find all six trigonometric values for the given angle.

1) 3=270 sinf= - cosf= 0 tan@ = OWOEF
cscf= = [ sec@= UNDEF cotd= 0O
2)f=nxn sinf = O cosf = ~| tanf= ©
cscd= VUNpEl sec@= —I cot@ = Uno &
3) 8 =(-90)° sinf= —| cosf= D tan@ = VmOLF
cscd= ~l sect = Vop s cotf= €
4) 6 =(-2x) smf= 0O cos@= | tand= O
cscl = UNpEL secOd= | cot@ = VWOET

Use the unit circle to find the values of the six trigonometric functions for each angle.

£ . ,
5) 6 =60" sinf = '5_2- cosf = VL tand = 16
13 Av3
¢sel = //{ secd= L cotd = /'b
. 3
6) 9:% sin@ = "lv., cos@ = ‘B’L tan@ = 3/3
e .
cscd= —)_ sce= 3/3 cotd = _6
-2 5 l
7 B =235 sind = — cosf= "V tané =
cscf= - '\(’I/ SEE0= ’{2’ cotd= |
Sz ’ﬁ -6
8) 8=— sl = L cosé = tanf= T
) ; 1 an 3
- Bt
cssd= 1. secd = ’Lﬁb cotd = 3
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I. Reciprocal Identities II. Quotient Identities
) 1
A) sinf= D) cscf=—— )
cscd sin & sin&
) A) tanf= ™
B) cosf= E) secf= 604
secd cosé coséd
1 B) cotf=—
C) tanf= F) cotd= I
coté tan &

Find the exact value of each expression, using unit circle angles (answer in radians)

1. cos'0 2. sin‘l(—%) 3. tan'f3
T ) ’ T
v 3
4. cos™ 3 Tl 5. tan” 1 ¢ AT 6. sin'1
2 ) LU ix
b 1 AN
l 3
( V(Iné
Find the exact value of each expression \[40f &3

R

NE)
1., COS[SiH—1 —SJ 2 tan{sin_1 e
2 2
j -
W

4. csclcos™ O) 5. sin(tan™ 4 6.

B b

e
.,
| S |

(US)
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Complete the following table , using your unit circle and reciprocal identities

2n | 317 3n T _ ~5T | W0n [=257 | _9n |4r |_=
R 3 g 2 | AT b 3 Z 4 | 3 4
Deg. | [p,° | 135° | 2707 | 330° |=Sdv |-150° | s’ |=750° |=Yos°| 240° _yg®
) 2 - _ =13 — - "
sin . y/3/‘, IV;L - | % D ,/Z - 4 -—-1? '—\% _‘%
_ =i, Y3 2 | - - P Y2
cos | Y |2 |0 2 R e 5| Z |4 |2
- ‘/ 7
- '\'3 ']13 ~¥2
A SR S S e
cot |-~ % ~ 0 "*”@' Upoer ’}/3 13/3 ’]}g - (\6’3 _[
sec | -2 “Vi | Nosk _Z—%J” | j%f " éff ')ﬁ, il fﬁ
N _ h 247 | _ B -3
cse 7:_,3.:3 ’V/L - [ - Uupber | -2 — A U/Z/ =3 —ﬁ
r )/ T <« o O O o @I K
Convert into degrees, minutes, and seconds. (Round answers to the
11eal est second, if needed.)
) 152.65° 2) 86.125"
o

()

Convert to decimal degrees.

1) 52" 28° 227
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2) 138" 45°

387

{ 128,741 )




